SPARE PARTS LIST

MODEL NO. HM1304

PAGE 1

ITEM PART NO. DESCRIPTION QTY NOTE
001  324098-6 Szerszamtarté 1
002  324099-4 Szerszam reteszelo 1
003 266010-9 Imbuszcsavar M8x30 HM1303* 6
004  233309-7 Nyomoérugdé HM1304 1
005 324135-6 Tart6 HM1304 1
006 262098-7 Gyuru HM1304 1
007 213388-1 O-gyuru 24 HM1304/B 1
008 324167-3 Szerszamvezeto 1
009 324166-5 Szabadonfut6 kipgoérgo 1
010 262099-5 Gumigyuru 52 1
011  324101-3 Utoszeg 1
012 421975-4 Tomitogyuru HM1304 1
013 213721-7 O-gyuru 61 HM1800 1
014 324738-6 Tomités foglalat 1
015 213443-9 X gyuru 30 1
016 262098-7 Gyuru HM1304 1
017 267232-4 Alatét 48 1
018 317448-2 Hajtorad 1
019 213617-2 O-gyuru 47 HM1304/B 1
020 317447-4 Dugatty 1
021 268066-8 Csapszeg 12 1
022 213572-8 O gyuru 44 1
023 267233-2 Alatét 55 1
024 261121-5 Nylon alatét 55 1
025 331600-8 Hengerhiively 1
026 213572-8 O gyuru 44 1
027 324102-1 Dugodkulcs 1
028 317444-0 Hengeres haz 1
029 941252-3 Lapos Alatét 10 941252-3 4
030 266276-1 HEX. SOCKET HEAD BOLT M10x40 4
031 273518-6 Fogantyd HM1304 1
032 252005-8 Hatlapu anya M8-13 HM1300 1
033 266298-1 Csavar M10x22 HM1304 1
034 416228-4 Fogantyu-alaplemez HM1303* 1
035 345279-9 Nyél HM1304 1
036 416228-4 Fogantyu-alaplemez HM1303* 1
037 252633-9 Széarnyas anya M10 HM1500* 1
038 253194-2 Lapos Alatét 5 5600RDW/HM1303* 1
039 922221-3 Imbuszcsavar M5x16 922221-3* 1
040 252005-8 Hatlap anya M8-13 HM1300 1
041 257196-0 Gyuru 25 HM1303* 1
042 211373-8 Goly6scsapagy 6205LLU HM1303/H 1
043 316730-6 Csapagyhaz HM1303* 1
044  265366-7 Imbuszcsavar M6x22 4
045  254001-2 Ek 4 254001-2* 1
046  324100-5 Forgattyus tegely 1
047 212261-2 Tug0Orgds csapagy 1
048 253196-8 Lapos Alatét 6 9741/2012 1
049 922326-9 Imbuszcsavar M6x18 922326-9 1
050 213720-9 O-gyuru 67 213720-9 1
051 819084-5 MAKITA cimke 5103R* 2
052 213510-0 O-gyuru 36 213510-0 1
053 416561-4 Forgattyuhaz-fedél HR5001C 1
054 911221-8 Trapézfeju csavar M5x16 911221 4
055  345278-1 Kefetart6 burkolat /[HM1304 2
056 262003-4 Gumi gyuru 6 HM1400/LS1013 2
057 643700-5 Szénkefetart6-sapka 7-18 64370 2
1

058

191957-7

Szénkefe, CB-204 191957-7*




SPARE PARTS LIST

MODEL NO. HM1304

PAGE 2

ITEM PART NO. DESCRIPTION QTY NOTE
059 922227-1 Imbuszcsavar M5x18 922227-1 2
060 345319-3 Hatso burkolat /HM1304 1
061 922371-4 Imbuszcsavar M6x50 922371-4* 4
062 941151-9 Lapos Alatét 6 941151-9* 4
063 153438-9 Motorhaz Gj 1
064 317623-0 Fogaskerékhaz HM1304 1
065 853955-6 NAME PLATE HM1304 1
066 626124-0 Allorész 1
067 265428-1 Allérész régzito hatlapt csav 2
068 253794-8 Lapos Alatét 18 (253794-8) 6 1
069 211087-9 Golydscsapagy 6200DDW 211087-9 1
070 681635-2 Szigetelo alatét 1806B* 1
071 516864-7 Forgérész 1
INC. 69,70,72,73
072  241870-0 Ventilator HM1304 1
073 211228-7 Golyoéscsapagy 6202DDW* 1
074  418000-0 Terelo lap HM1304B 1
075 266310-7 Csavar M6X45 4
076 317446-6 Fogaskerékhaz fedél HM1304 1
077 211214-8 Golyéscsapagy 6302* 1
078  226450-3 Fogaskerék 57 HM1303* 1
079  421780-9 Tomitogyuru 1
080 317445-8 Fogaskerékhaz 1
081 256111-1 Csapszeg 6 HM1200/JN1600 1
082 421779-4 Toémitogyuru /A HM1304/B 1
083  265995-6 Onmetszo csavar M4x18* 3
084 183546-2 Foganyt( készlet HM1304/B 1
INC. 92
085 941152-7 Lapos Alatét 6 941152-7 2
086 922371-4 Imbuszcsavar M6x50 922371-4* 2
087 256111-1 Csapszeg 6 HM1200/IJN1600 1
088 331212-7 Tomités HM1400* 1
089 211104-5 Golyéscsapagy 6001 211104-5* 1
090 226449-8 Fogaskerék 34 HM1303* 1
091 211109-5 Golydscsapagy 6201* 1
092  183546-2 Foganyt( készlet HM1304/B 1
INC. 84
093 645105-5 Zajszuro kondenzator 645105-5* 1
094 685725-3 Szivacsgumi lemez HR5000 1
095 415805-9 reteszelo gomb HM1303 1
096  417544-7 Kapcsolo 1
097  415806-7 Rogzitolap HM1303 1
098 651922-3 Kapcsolé TG71B 651922-3* 1
099 421778-6 Tart6 1
100 231457-6 Nyomorugé 3 UH4510A/LS1013 1
101 682560-0 Kabelvédo 10 682560-0* 1
102 665883-1 POWER SUPPLY CORD 1.0-2-5.0 1
103 687052-4 Kéabel-fesziltségmentesito 6870 1
104 265995-6 Onmetszo csavar M4x18* 2
105 922361-7 Imbuszcsavar M6x40 922361-7* 2
106  941152-7 Lapos Alatét 6 941152-7 2
A0l 798029-5 BULL POINT 30-410 1
AO02 183567-4 Steel Carrying Case 1




SERVICE DRAWING

PAGE 1

MODEL NO. HM1304




